Test Review
Problem Set

Determine the measure of each minor arc.
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Determine the measure of each central angle.
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Determine the measure of each inscribed angle.
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Determine the measure of each intercepted arc.
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Calculate the measure of cach angle.

13. Incircle €, mWZ = 65° and mXZ = 33° What is
mLWCxX?

9. The measure of ZADB is 62°. What is the meastre of
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10. The measure of Z5OK is 1632, What is the measure of
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Use the given information to answer cach question.
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L1 Incircle €. mXZ = 86°, What is mIV¥?

) .c = 16. Incircle C. mZ WYX = 50° and mZXVZ = 30°. What is
e = mWXZ?
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Problem Set
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Write an expression for the measure of the given angle.
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Write an expression for the measure of the given angle.
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List the intercepted arc(s) for the given angle.
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Use the diagram shown to determine the measure of each
angle or arc.

24, Determine mFI . | 720 ;

mLE = 20°
mGT = 30°




25, Determine mZELT,

° 29. Determine mZD.
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26. Determine mZY .
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mTl = g5° Problem Set
o . Use the given information to answer each question. Explain

G WO TR your answer,

' Li? 30. If diameter BD bisects AC, what is the angle of
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27. Determine mZL WYX, Al e ’
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) /; does the length of £7 compare to the length of fG?
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45 e deasitie metsiie st L andl T compare? Compare each measurement. Explain your answer.
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— G 36. If DE = FG, how does the measure of DF and F&

LM compare?
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33. If XP = LN . how does the length of Q_O compare to
the length of RO?
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- _ 37. It £M = JE, how does the measure of JL and £4f

QO = RO compare?
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34, 11_}75 = ZO. what is the relationship between TU and
XV

38. I LAOB = £DOC, what is the relationship between
A8 and DC?
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AB = DC

35. It GO = HO and diameter £ is perpendicular to both,
what is the relationship between GF and HE? Use each diagram and the Segment Chord Theorem to write
an equation involving the segments of the chords.
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45. D& and FE are tangent to circle O.

Problem Set
Calculate the measure of each angle. Explain your reasoning.
41, 11 DA is a radius, what is the measure of £ Q457
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42, 11 £ is a tangent segment and OS5’ is a radius. what is
the measure of LROS?
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i Calculate the measure of each angle. Explain your reasoning.
S
. ) — ) ) 47. If £F and GF are tangent segments, what is the
43. 11 VI is atangent segment and OF is a radius. what is measure of ZEGF?
the measure of ZVWO? o
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Write a statement to show the congruent segments.
48. If &M and LM are tangent segments, what is the

44. X7 and ZW are tangent to circle O. measure of LAML?
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Use each diagram and the Secant Segment Theorem to write Tangents and Secants
an equation involving the secant segments.
53. In the figure shown, rays LJ and LH are tangent to circle
49, —_— — { -_—5 .
(SmYSQ) = (SN)(S®

K, and the measure of angle LJ/H is 712, What is the
measure of angle JLH? Explain your reasoning.
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In the figure shown. #17= 36 inches. point \'is a
midpoint of segment W17, and ¥¥7 =40 inches. What is
YZ? Explain your reasoning.
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Use each diagram and the Secant Tangent Theorem to write X
an equation involving the secant and tangent segments. '

Zz 55. In the figure shown, line /G is tangent to circle Q.
[A:r) [A_ﬂ) e (A'X) B8C =10 feet, and CF =4 feet. What is £#G? Explain
your reasoning.
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Study Chap 11 and your
assignments!

The summary in the back of Chap
11 will be a good study guide!






